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Q.1 What type of sentence is this: "Although she tried, she couldn't lift the heavy box"?

Ans X 1. Interrogative sentence
«” 2. Complex sentence
5 3. Compound sentence

/5 4. Simple sentence

Question ID
Option 2 ID
Option 4 ID

Status
Chosen Option

: 630680453685
Option 11D :

6306801771727

: 6306801771724
Option 3D :

6306801771725

: 6306801771726
: Answered
1

Q.2 What is the main function of a subject in a sentence?
Ans X 1. Performs the action

X 2. Receives the action
” 3. Indicates what the sentence is about

& 4. Modifies the verb

Question ID
Option 2 ID
Option 4 ID

Status
Chosen Option

: 630680453686
Option 11D :

6306801771728

: 6306801771729
Option 31D :

6306801771730

: 6306801771731
: Answered
03




Q.3
Ans

Comprehension:

Read the given poem and answer the questions based on it:

Open it.

Go ahead, it won't bite.
Well...maybe a little.

More a nip, like. A tingle.

It's pleasurable, really.

You see, it keeps on opening.
You may fall in.

Sure, it's hard to get started;
remember learning to use
knife and fork? Dig in:

You'll never reach bottom.
It's not like it’s the end of the world-
just the world as you think

you know it.

SubQuestion No : 3
What is the overall tone of the passage?
/< 1. Frightening

#< 2. Confusing
#< 3. Depressing
«” 4. Encouraging

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680453710
6306801771804
6306801771806
6306801771807
6306801771805
Answered

4




Comprehension:
Read the given poem and answer the questions based on it:

Open it.

Go ahead, it won't bite.
Well...maybe a little.

More a nip, like. A tingle.

It's pleasurable, really.

You see, it keeps on opening.
You may fall in.

Sure, it's hard to get started;
remember learning to use
knife and fork? Dig in:

You'll never reach bottom.

It's not like it’s the end of the world-
just the world as you think
you know it.

SubQuestion No : 4
Q.4 What does the passage compare the act of opening something to?
Ans X 1.Falling into a bottomless pit.

X 2. Apleasant sensation.
«” 3. Using a knife and fork.

/5 4. Learning to ride a bicycle.

Question ID : 630680453709
Option 11D : 6306801771801
Option 2 ID : 6306801771803
Option 3 ID : 6306801771802
Option 4 ID : 6306801771800
Status : Answered
Chosen Option : 3




Q.5
Ans

Comprehension:

Read the given poem and answer the questions based on it:

Open it.

Go ahead, it won't bite.
Well...maybe a little.

More a nip, like. A tingle.

It's pleasurable, really.

You see, it keeps on opening.
You may fall in.

Sure, it's hard to get started;
remember learning to use
knife and fork? Dig in:

You'll never reach bottom.
It's not like it’s the end of the world-
just the world as you think

you know it.

SubQuestion No : 5
What is the structure of the passage?
«” 1. Metaphorical

75 2. Expository
75 3. Descriptive

#< 4. Argumentative

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680453707
6306801771795
6306801771794
6306801771793
6306801771792
Answered

3




Q.6
Ans

Comprehension:

Read the given poem and answer the questions based on it:

Open it.

Go ahead, it won't bite.
Well...maybe a little.

More a nip, like. A tingle.

It's pleasurable, really.

You see, it keeps on opening.
You may fall in.

Sure, it's hard to get started;
remember learning to use
knife and fork? Dig in:

You'll never reach bottom.

It's not like it’s the end of the world-
just the world as you think

you know it.

SubQuestion No : 6

Which of the following statements best summarizes the passage?
#5 1. Opening up to new experiences is always dangerous and should be avoided.

«” 2. Trying new things may be challenging at first, but it can be a pleasurable*and

limitless experience.

#< 3. Using a knife and fork is a difficult skill to learn.

#< 4. The world as we know it is about to come to an end.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680453708
6306801771796
6306801771797
6306801771798
6306801771799
Answered

1




Q.7
Ans

Comprehension:

Read the following passage and answer the questions below.

Democracy represents a ray of hope for nations seeking self-determination and freedom. It
empowers citizens by placing the power of governance in their hands, typically through free
and fair elections. However, it's important to recognize that democracy cannot be universally
applied in a one-size-fits-all manner.

Every country has its own unique historical, cultural, and social context that influences how
democracy functions within its borders. What may work effectively in one nation may require
adaptation to suit the specific needs and circumstances of another.

For democracy to thrive, active citizen participation is essential. This means not only voting
but also staying informed, engaging in public discourse, and actively contributing to the
political process. Additionally, safeguarding civil liberties, such as freedom of speech and the
rule of law, is fundamental. These liberties ensure that diverse voices can be heard and that
individuals' rights are protected.

Moreover, the rule of law must prevail, ensuring that everyone, including government officials,
is accountable under the law. Democracy is an ongoing commitment that necessitates
continuous efforts to uphold its principles, prevent corruption, maintain free and fair elections,
and preserve the integrity of democratic institutions.

In essence, democracy is more than just a form of government; it represents a commitment to
specific values and principles. It relies on active citizen engagement, the protection of
individual rights, and the dedication to the rule of law. Safeguarding these democratic
principles is crucial for fostering justice and stability within a nation and for promoting peace
and cooperation in the global community. Democracies that uphold these principles often
contribute to a more peaceful and interconnected world.

SubQuestion No : 7
According to the passage, why is democracy not a one-size-fits-all solution?
/< 1. Because it empowers citizens through free and fair elections

& 2. Because it relies on government officials being accountable
«” 3. Because it requires adaptation to a country's unique context

#< 4. Because it prioritizes the protection of individual rights

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680453671
6306801771672
6306801771675
6306801771674
6306801771673
Answered

1




Q.8

Ans

Comprehension:

Read the following passage and answer the questions below.

Democracy represents a ray of hope for nations seeking self-determination and freedom. It
empowers citizens by placing the power of governance in their hands, typically through free
and fair elections. However, it's important to recognize that democracy cannot be universally
applied in a one-size-fits-all manner.

Every country has its own unique historical, cultural, and social context that influences how
democracy functions within its borders. What may work effectively in one nation may require
adaptation to suit the specific needs and circumstances of another.

For democracy to thrive, active citizen participation is essential. This means not only voting
but also staying informed, engaging in public discourse, and actively contributing to the
political process. Additionally, safeguarding civil liberties, such as freedom of speech and the
rule of law, is fundamental. These liberties ensure that diverse voices can be heard and that
individuals' rights are protected.

Moreover, the rule of law must prevail, ensuring that everyone, including government officials,
is accountable under the law. Democracy is an ongoing commitment that necessitates
continuous efforts to uphold its principles, prevent corruption, maintain free and fair elections,
and preserve the integrity of democratic institutions.

In essence, democracy is more than just a form of government; it represents a commitment to
specific values and principles. It relies on active citizen engagement, the protection of
individual rights, and the dedication to the rule of law. Safeguarding these democratic
principles is crucial for fostering justice and stability within a nation and for promoting peace
and cooperation in the global community. Democracies that uphold these principles often
contribute to a more peaceful and interconnected world.

SubQuestion No : 8

What is the potential global benefit of democracies that uphold democratic principles,
as mentioned in the passage?

25 1. More conflict and instability
25 2. Adecline in individual rights and freedoms
5 3. Increased government control

& 4. Amore peaceful and interconnected world

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

630680453673
6306801771681
6306801771683
6306801771680
6306801771682
Not Answered




Q.9

Ans

Comprehension:

Read the following passage and answer the questions below.

Democracy represents a ray of hope for nations seeking self-determination and freedom. It
empowers citizens by placing the power of governance in their hands, typically through free
and fair elections. However, it's important to recognize that democracy cannot be universally
applied in a one-size-fits-all manner.

Every country has its own unique historical, cultural, and social context that influences how
democracy functions within its borders. What may work effectively in one nation may require
adaptation to suit the specific needs and circumstances of another.

For democracy to thrive, active citizen participation is essential. This means not only voting
but also staying informed, engaging in public discourse, and actively contributing to the
political process. Additionally, safeguarding civil liberties, such as freedom of speech and the
rule of law, is fundamental. These liberties ensure that diverse voices can be heard and that
individuals' rights are protected.

Moreover, the rule of law must prevail, ensuring that everyone, including government officials,
is accountable under the law. Democracy is an ongoing commitment that necessitates
continuous efforts to uphold its principles, prevent corruption, maintain free and fair elections,
and preserve the integrity of democratic institutions.

In essence, democracy is more than just a form of government; it represents a commitment to
specific values and principles. It relies on active citizen engagement, the protection of
individual rights, and the dedication to the rule of law. Safeguarding these democratic
principles is crucial for fostering justice and stability within a nation and for promoting peace
and cooperation in the global community. Democracies that uphold these principles often
contribute to a more peaceful and interconnected world.

SubQuestion No : 9

Why is it important to adapt democracy to suit a country's specific needs and
circumstances?

#< 1. To maintain cultural homogeneity
5 2. To create a one-size-fits-all approach
«” 3. Because every country has unique historical and social contexts

/< 4. Because democracy cannot work in any other way

Option 4 ID

Chosen Option

Question ID :
Option 11D :
Option 21D :
Option 31D :
: 6306801771678
Status :
03

630680453672

6306801771677
6306801771676
6306801771679

Answered




Comprehension:

Read the following passage and answer the questions below.

Democracy represents a ray of hope for nations seeking self-determination and freedom. It
empowers citizens by placing the power of governance in their hands, typically through free
and fair elections. However, it's important to recognize that democracy cannot be universally
applied in a one-size-fits-all manner.

Every country has its own unique historical, cultural, and social context that influences how
democracy functions within its borders. What may work effectively in one nation may require
adaptation to suit the specific needs and circumstances of another.

For democracy to thrive, active citizen participation is essential. This means not only voting
but also staying informed, engaging in public discourse, and actively contributing to the
political process. Additionally, safeguarding civil liberties, such as freedom of speech and the
rule of law, is fundamental. These liberties ensure that diverse voices can be heard and that
individuals' rights are protected.

Moreover, the rule of law must prevail, ensuring that everyone, including government officials,
is accountable under the law. Democracy is an ongoing commitment that necessitates
continuous efforts to uphold its principles, prevent corruption, maintain free and fair elections,
and preserve the integrity of democratic institutions.

In essence, democracy is more than just a form of government; it represents a commitment to
specific values and principles. It relies on active citizen engagement, the protection of
individual rights, and the dedication to the rule of law. Safeguarding these democratic
principles is crucial for fostering justice and stability within a nation and for promoting peace
and cooperation in the global community. Democracies that uphold these principles often
contribute to a more peaceful and interconnected world.

SubQuestion No : 10
Q.10 What is the passage's stance on the applicability of democracy in different countries?
Ans X 1. Democracy can be applied universally without adaptation.

«” 2. Democracy requires adaptation to suit specific needs and circumstances.
& 3. Democracy is only suitable for countries with a similar culture.

#< 4. Democracy should be avoided in nations seeking self-determination.

Question ID : 630680453670
Option 1 ID : 6306801771668
Option 2 ID : 6306801771669
Option 3 ID : 6306801771670
Option 4 ID : 6306801771671
Status : Answered
Chosen Option : 2

Section : Part 1 General Odia

Comprehension:
FINGS FQUIPEIg dQg IK° &l ARINRER JFFLaR QAR &G

aqe Q&

TIRIR QUG GE | JRISLR F0G QIFER JoH e 908E | gIS1e 2°98a 2gd-6<ly
6QIRAINRE | FLR12 ARIFIA 99 9318 Fede RIFAIRRTE | 961 IRI ACIFR FEF QU6 Y]
088 9Q F9Iq AR |

SubQuestion No : 1
Q1 g &9?
Ans X' 1. Qi@
X 2. Q101 99Q
X 3. 99199% 99E
o 4. TR QUG

Question ID : 630680452600
Option 1 ID : 6306801767447
Option 2 ID : 6306801767450
Option 3 ID : 6306801767449
Option 4 ID : 6306801767448
Status : Answered
Chosen Option : 1




Comprehension:
FANGIS QU EIg IRY 98° ¥l ARG JIFERR Qe Gag
aqe Q&

AeIRIa QIR 6R6 | JRINZR F90E QIS6a JEY dde a98E | gIsle 2°95a 2Ied-6dlk
60IRAINRT | ALRI9 ARFIS 99 6718 Fade RITIRRT | 961 IRI AIFIFA Gee QISR I&
GRRE 98 F19Ig aRIY |

SubQuestion No : 2
Q.2 “HARIQ QUG KFS”"-9E FIRU6R 6R66IT FlAe AER?
Ans X' 1. 64lI5

X 2.56ql5
o 3. 918
X 4.908

Question ID : 630680452603
Option 1 ID : 6306801767460
Option 2 ID : 6306801767462
Option 3 ID : 6306801767459
Option 4 ID : 6306801767461
Status : Answered
Chosen Option : 3

Comprehension:
FINES dQUIeEg dQE I8° al ARINER JFFLaR QAR &g
a9e Q¥

AeIRIa AR 6L | IRINLR 990G IS6a 9EY dae 298E | gIs1e 2°48a Zied-6dlk
60IRAINGT | ALY AR 99 §FIS Fade RIPAIRRS | 961 IRI AGIFA GRS QLR I&
@088 e a91q aURIY |

SubQuestion No : 3
Q3 Qa9 69 9Y ARS FR6R?
Ans 2 1.9@legn
X 2.9199
X 3.294

X 4.99919

Question ID : 630680452601
Option 1 ID : 6306801767451
Option 2 ID : 6306801767452
Option 3 ID : 6306801767453
Option 4 ID : 6306801767454
Status : Answered
Chosen Option : 1




Comprehension:
FANGIS QU EIg IRY 98° ¥l ARIFER JIFERR QR Gag

aqe Q&

FoIRIQ AR GR | JRINLR FUE QISEA Y AGe FARE | FIS1e A°YER 2ed-64l

60IRAINRT | ALRIE ARFIS 99 §FIS Fade RITIRRT | 961 IR AGIFA Gee QISR I&

@oR8 e a9lq daIRIY |

SubQuestion No : 4
Q.4 “gdlyr-5199 22l 9612

Ans X' 1. 41693
X 2. 98I
X 3.989
o 4. ddIQ
Question ID : 630680452602
Option 1 ID : 6306801767457
Option 2 ID : 6306801767458
Option 3 ID : 6306801767456
Option 4 ID : 6306801767455
Status : Not Answered
Chosen Option : ==
Q5 “2ee”q FANIE F18 K617
Ans X 1.849
o 2.99
X 3.G84
&K 4919
Question ID : 630680452623
Option 1 ID : 6306801767532
Option 2 ID : 6306801767533
Option 3 ID : 6306801767531
Option 4 ID : 6306801767534
Status : Answered
Chosen Option : 2




Q.6
Ans

Comprehension:
FANGIS dQUIPEIg 9Rg 98° YLl 2RIFEA 99600 Qe G2

6519 geulél

211 ALIgalE ARl AR
o FLIRITA 9 Gl 62 QUG |
AMRR OIQ IH6E AR 9@
9% 269969 doIRl VIR o,
g6 @9 693 6158 AR
26 6997 IR FIF AR
F6W6R Q60 FLR-6AURIRD

IS 632 KIE RIS QesR SR 2IE |
SubQuestion No : 6
29I 99 22 612

X 1. 988

X 2. geglien

o 3.990

X 4.948

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680452649
6306801767617
6306801767618
6306801767615
6306801767616
Answered

3




Q.7
Ans

Comprehension:
FANGIS dQUIPEIg IR 98° YLl 2RIFEA 99600 Qe Gag

6519 geuledl
FRI919 ARIgAIS oMl 2@
o FILIRITA 9 Gl 62 QUG |
AMRR OrQ IH6E AR 9@
9% R69969 doIRl VIR e,
g6 €9l 693 658 AR
26 6997 SI'A Rl AR
F62W6R Q60 FLR-6AURIRD

3916 6F2l Q15 2918 QE6R SIERI 2IF |

SubQuestion No : 7
AD dLYIFI6Q “ARISIN” 69IM FILIG ACFNIF FAAIRE?
o’ 1.601999 @Id
X 2. eygee Qi
X 3. 91094 QI
X 4.2099 QI

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680452647
6306801767608
6306801767607
6306801767609
6306801767610
Answered

2




Q.8
Ans

Comprehension:
FANGIS dQUIPEIg 9Rg 98° YLl 2RIFEA 99600 Qe G2

6519 geuledl

211 AILIgalé ARl AR
o FLIRITA 9 Gl 62 QUG |
AMRR OIQ IH6E AR 9@
9% 269969 J0IRl VIR o,
g6 @9l 693 6158 AR
26 6997 SI'A Rl AR
F6W6R Q60 FLR-6AURIRD

3916 652l Q15 12NI9I8 QE6R SERI 2IF |

SubQuestion No : 8
6QQG “AVKN” FI9Q FANSESNRI 6197
o 1. 26019

X 2.594
X 3.088
X 4.978

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680452650
6306801767621
6306801767622
6306801767619
6306801767620
Answered

1




Comprehension:
FANGIS dQUIPEIg IR 98° YLl 2RIFEA 99600 Qe Gag

6519 geuledl

211 AILIgalé ARl AR
o FLIRITA 9 Gl 62 QUG |
AMRR OIQ IH6E AR 9@
9% 269969 doIRl VIR o,
96 G2l 6613 685 2R1KIR
26 6997 SI'A Rl AR
F6W6R Q60 FLR-6AURIRD

3916 6F2l Q15 2NI918 QE6R SIERI 2IF |

SubQuestion No : 9
Q.9 90 “aAgLIRIS” 69IM RILIG GLIIAS?
Ans X' 1, dQYQIQ1

K 2,91

«” 3. 632l

X 4. 684l
Question ID : 630680452648
Option 1 ID : 6306801767614
Option 2 ID : 6306801767613
Option 3 ID : 6306801767612
Option 4 ID : 6306801767611

Status : Answered
Chosen Option : 3
Q.10 2lg) 6Q¢lINSI- caa 2dea UL £9?
Ans X' 1. 29 6Qg<I

o 2. 09 6Q%IRRl

X 3. 259 6QsIaRl

X 4.98 agel
Question ID : 630680452622
Option 1 ID : 6306801767527
Option 2 ID : 6306801767528
Option 3 ID : 6306801767529
Option 4 ID : 6306801767530

Status : Answered
Chosen Option : 2

Section : Part 1 General Knowledge and Current Affairs




Q.1 JGA6R SIRERIR FUCE 62IR F1D QYT KGN |

Ans

X 1. dcIRdg
o 2. AR6RIRGY
X 3.9946 Ges,84

X 4. Qlomaq
Question ID : 630680453360
Option 1 ID : 6306801770450
Option 2 ID : 6306801770449
Option 3 ID : 6306801770448
Option 4 ID : 6306801770451
Status : Answered
Chosen Option : 2
Q.2 The Average Sex Ratio (As per the Census 2011) of Odisha is /1000 males.
Ans X 1.934
X 2.114
X 3.104
o 4.979
Question ID : 630680453336
Option 1 ID : 6306801770352
Option 2 ID : 6306801770355
Option 3 ID : 6306801770354
Option 4 ID : 6306801770353
Status : Not Answered
Chosen Option : --
Q.3 eslIN6 AfsIa 22, afee s 64611961 2SI 1G] 268 |
Ans X' 1. QPR QY
o 2. 290G
X 3.98
X 4. 69196
Question ID : 630680453366
Option 1 ID : 6306801770473
Option 2 ID : 6306801770472
Option 3 ID : 6306801770474
Option 4 ID : 6306801770475
Status : Not Answered
Chosen Option : --
Q4 QUAGIA AREG 2FAC, QIFIG A6R-F6&I 2°9UN 13 @RI, KRS A°ANAYRS AT
2SI 9T 2YFaAg 69 §541 9°Q< I GLET SAULIA, ANGR AILIRY Al YL
SUIF dFe6R 99YEI diR SAG f16g FUIARE dORT a9l ILIQ g6y QdIQIe A |
Ans X 1.1900
X 2.1919
X 3.1929
o 4. 1909
Question ID : 630680453378
Option 1 ID : 6306801770521
Option 2 ID : 6306801770520
Option 3 ID : 6306801770523
Option 4 ID : 6306801770522
Status : Answered
Chosen Option : 4




Q.5 The taiga lies between the
Ans X 1.mild temperate zone

#< 2. torrid zone
o 3. tundra
X 4. rainforests

to the north and temperate forests to the south.

Question ID : 630680453390
Option 1 ID : 6306801770571
Option 2 ID : 6306801770568
Option 3 ID : 6306801770570
Option 4 ID : 6306801770569
Status : Answered
Chosen Option : 3
Q.6 Udyog Ratna award by Maharashtra Government was awarded to in August
2023.
Ans  # 1. Ratan Tata
#5 2. Indira Nooyi
#5 3. Sachin Tendulkar
X 4. Anil Ambani
Question ID : 630680453348
Option 1 ID : 6306801770402
Option 2 ID : 6306801770403
Option 3 ID : 6306801770401
Option 4 ID : 6306801770400
Status : Answered
Chosen Option : 3
Q7 ZQIRN6Te 65499 626N A€M IR 2023 § @Uee 6ulIVSl AN M |
Ans X 1. Q49YIARIR Q2 2P 6994
X 2. 2420Y9In RARX 2 dg
o’ 3. QEARULFIR R2AQ AP Femed
X 4. 24992Y4RIN RAQ AL §94
Question ID : 630680453341
Option 1 ID : 6306801770374
Option 2 ID : 6306801770372
Option 3 ID : 6306801770373
Option 4 ID : 6306801770375
Status : Answered
Chosen Option : 1
Q.8 eramg 5g6 « | Q8 A, Q 98 9a969 UGl G ISR 98° AITS AFAXER
ge g e qdqéaa 2iesis €9 |
Ans 1 q2¢l
X 2,99l
X 3.01Q9%
X 4.999
Question ID : 630680453372
Option 1 ID : 6306801770498
Option 2 ID : 6306801770499
Option 3 ID : 6306801770496
Option 4 ID : 6306801770497
Status : Answered
Chosen Option : 1




Q.9 The Council of States consists of not more than 250 members, of whom 12 are

Ans X 1.appointed
¥ 2. nominated
#< 3. nominated then elected by chairman
X 4. elected
Question ID : 630680453384
Option 1 ID : 6306801770547
Option 2 ID : 6306801770544
Option 3 ID : 6306801770546
Option 4 ID : 6306801770545
Status : Answered
Chosen Option : 3
Q.10 (Jagu Dewan), as he was popularly known by the Kohl tribe of Singhbhum
estate, was the Dewan of Raja Arjun Singh of Porahat.
Ans X 1.Ram Krushna Samanta Singhar
# 2. Madho Singh
# 3. Uday Singh
«” 4. Jagabandhu Pattnaik
Question ID : 630680453354
Option 1 ID : 6306801770427
Option 2 ID : 6306801770426
Option 3 ID : 6306801770424
Option 4 ID : 6306801770425
Status : Not Answered
Chosen Option : --
Section : Part 1 Reasoning Ability
Q1 SIsaIT 289-95 6KIF GRUAINE, 62CIRE FIG F6aI5 U-CE 96 Fae cI96a 994 268 99° 6515 &g 268 | B
NG5 SLIGE 0A8 /%9 |
Ans X 1. QWH : RXI
X2 POR: QPS
X3 EDB:FEC
« 4 UHD : VIF
Question ID : 630680453310
Option 1 ID : 6306801770249
Option 2 ID : 6306801770251
Option 3 ID : 6306801770250
Option 4 ID : 6306801770248
Status : Answered
Chosen Option : 4




Q.2  gq 759 691 QUEISS, SIF TODAY g OTDYA w969 6@l¢ @QUcld, TONIGHT q NOTITHG 696l 641% aULld, 6969
YESTERDAY @ QUSER 6Q1¢ YRS |

Ans X 1. YADRETSEY
X 2. TSEYYADRE
« 3 TSEYEYADR
X4 YADRTSEYE

Question ID : 630680453298
Option 1 ID : 6306801770201
Option 2 ID : 6306801770202
Option 3 ID : 6306801770200
Option 4 ID : 6306801770203
Status : Answered
Chosen Option : 3
Q3 jardia RepulliReingalagiaRa uliES Yo 1a] Qﬁé@, 69290 961 Qo6 98 aerd 291 9agT oBa R |
T:28+1122:2
Ans X 1. 845
2. 488
X3 B21
X 4. 5A1
Question ID : 630680453280
Option 1 ID : 6306801770131
Option 2 ID : 6306801770128
Option 3 ID : 6306801770130
Option 4 ID : 6306801770129
Status : Answered
Chosen Option : 2
Q.4 goe sAISA O 989 F916 2oHI-A8S g 99° §918 OSUIRIE0 05 9ES 5 SGy-AISIR (I 6aaR e,
69297 980 ee-289 g €86 falsTalny Qq9% 0L1e QoL |
LOVE : KMNPUWDF :: SUN : RTTVMO :: CUTE : ?
Ans X 1. FDUSBDTV
« 2. BDTVSUDF
X 3. DVUFBTSD
x4 DBVTUSFD
Question ID : 630680453304
Option 1 ID : 6306801770226
Option 2 ID : 6306801770227
Option 3 ID : 6306801770225
Option 4 ID : 6306801770224
Status : Answered
Chosen Option : 2




Q.5 [Ifthe positions of the first and the second digits within each number are interchanged, which of the following will be the ten's digit of

the lowest number?
645 846 205 621 542

Ans 1 3
X2 8
3 2
X4 3
Question ID : 630680453274
Option 1 ID : 6306801770105
Option 2 ID : 6306801770104
Option 3 ID : 6306801770107
Option 4 ID : 6306801770106
Status : Answered
Chosen Option : 3
Q.6 gARaeY@J K L, M, N, 99° O 6556 FU9186% g€ 73 18 9860 9988 | J 99° N 99999 0F Ra91569 9988 | L,
29J 9 07 Q19 21560 988, 69 K 5 0R 8991960 988 | J & 0@ dIslse 0 94 QIIE | L 96° N F6R @4 98887
Ans .z 1. @)
<2 M
X3 K
X4 ]
Question ID : 630680453322
Option 1 ID : 6306801770297
Option 2 ID : 6306801770296
Option 3 ID : 6306801770299
Option 4 ID : 6306801770298
Status : Answered
Chosen Option : 1
Q.7 G Geuidl 99 ool 6eRsn | UAE 96 sndo 11 60 99° G0 53 GF 2169 | A0Sl 68RASI 9l Saulhie Qegyl
gdaas |
Ans 1. 863
X2 Bb
X3 62
X 4 66
Question ID : 630680453316
Option 1 ID : 6306801770274
Option 2 ID : 6306801770272
Option 3 ID : 6306801770273
Option 4 ID : 6306801770275
Status : Answered
Chosen Option : 2




Q.8 Two Statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, even if they seem to
be at variance with commonly known facts. decide which of the conclusions logically follow(s) from the statements.
Statements:
Statement I: Some triangles are not squares.
Statement II: Only a few squares are rectangles.
Conclusions:
Conclusion I Some triangles are squares.
Conclusion IT: All squares being rectangle is possible.

Ans X 1. Only conclusion II follows
X 2. Both conclusions I and 1T follow
« 3. Weither conclusion I nor IT follows
X 4. Only conclusion I follows
Question ID : 630680453328
Option 1 ID : 6306801770321
Option 2 ID : 6306801770322
Option 3 ID : 6306801770323
Option 4 ID : 6306801770320
Status : Answered
Chosen Option : 3
Q.9 = 4 v ¢ ratd
d9'AxB ‘BIEIEI B & Qidl A 2lg'e’ |
295 ‘A + B o 2 Ba €l ASIGE |
A9 'A+B EIEEE‘] ‘B @ @@l A 298" |
A% 'A-B Q ?JE] ‘B @ Qo A 29T |
dERUE X + W x V-Y' 6% X, ﬁﬁﬁ?ﬁﬁl Y &l @6l 6Y6] ?
Ans w1 QIgller €Il
X 2. wWwéh
X 3. @g[
X4 Qr
Question ID : 630680453292
Option 1 1D : 6306801770177
Option 2 ID : 6306801770178
Option 3 ID : 6306801770179
Option 4 ID : 6306801770176
Status : Answered
Chosen Option : 4




Q.10 goq 285 G760 606517 QUBEGY 218, 199 00 997 949 9004 218 1o 09 960 90 QuBead 218 2

CHYEOHJSWZLNVCDEKI

Ans 5 1. 2
X2 4
X3 3
v
Question ID : 630680453286
Option 1 ID : 6306801770153
Option 2 ID : 6306801770155
Option 3 ID : 6306801770154
Option 4 ID : 6306801770152
Status : Answered
Chosen Option : 4
Section : Part 1 Computer Literacy
Q.1 Which encryption algorithm is commonly used for securing internet communications
and transactions?
Ans X 1.DES (Data Encryption Standard)
< 2. MD5 (Message Digest Algorithm 5)
#< 3. SHA (Secure Hash Algorithm)
o 4. RSA (Rivest-Shamir-Adleman)
Question ID : 630680452725
Option 1 ID : 6306801767912
Option 2 ID : 6306801767914
Option 3 ID : 6306801767915
Option 4 ID : 6306801767913
Status : Answered
Chosen Option : 3
Q.2 What is the main purpose of Open Source Software (OSS) licenses?
Ans X 1.To prevent any modifications to the software
#5 2. To restrict access to the source code
#< 3. To limit the number of users
o 4. To allow users to view, use, modify, and distribute the source code
Question ID : 630680452713
Option 1 ID : 6306801767865
Option 2 ID : 6306801767864
Option 3 ID : 6306801767867
Option 4 ID : 6306801767866
Status : Answered
Chosen Option : 4




Q.3 What is the primary purpose of Network Address Translation (NAT) in computer
networking?

Ans X 1.To encrypt data for secure transmission
#5 2. To translate domain names into IP addresses
«” 3. To map multiple private IP addresses to a single public IP address

#5 4. To route packets between different network segments

Chosen Option :

Question ID : 630680452707
Option 1 ID : 6306801767840
Option 2 ID : 6306801767841
Option 3 ID : 6306801767842
Option 4 ID : 6306801767843
Status : Answered
Chosen Option : 2
Q.4 Which of the following storage devices uses spinning disks or platters to store data?
Ans X 1. RAM (Random Access Memory)
#< 2. SSD (Solid State Drive)
«” 3. HDD (Hard Disk Drive)
/< 4. USB Flash Drive
Question ID : 630680452719
Option 1 ID : 6306801767891
Option 2 ID : 6306801767889
Option 3 ID : 6306801767888
Option 4 ID : 6306801767890
Status : Not Answered
Chosen Option : ==
Q.5 What does the term "sandboxing” mean in the context of operating systems?
Ans X 1.Increasing system performance
< 2. Managing network security
/5 3. Creating backup copies of files
& 4. Running applications in restricted envirohment
Question ID : 630680452731
Option 1 ID : 6306801767937
Option 2 ID : 6306801767939
Option 3 ID : 6306801767938
Option 4 ID : 6306801767936
Status : Not Answered

Section : Part 1 Child Development Learning Curriculum and Assessment




Q1 QIAIRIRGES, IS IRGe AIFIFR F6RITRIS Falsa aduig agdiea giadie Fals aldy

@617
Ans 1,599 9QI0 28414 |
X 2. 89 QI §9Ye! |
X 3.9QUY¢ 9RIF1 6QIY |

X 4. QRISSI @RI Gl B A6LL |

Question ID : 630680452914
Option 1 ID : 6306801768670
Option 2 ID : 6306801768671
Option 3 ID : 6306801768669
Option 4 ID : 6306801768668
Status : Answered
Chosen Option : 1
Q.2 ggq §ig, 49 §@g eI qlge {aig aelg Q6 6898 9og g2 eIgl ARIFIERN
figag gasie efag |
Ans o 1. dUKE CllLeI6R (Experimentation)
X 2. 6018 996 2QQI (Rote memorization)
< 3. 96QYR AQQAd (Direct imitation)
X 4. 382 9dy6a8& (Passive observation)
Question ID : 630680452932
Option 1 ID : 6306801768743
Option 2 ID : 6306801768742
Option 3 ID : 6306801768741
Option 4 ID : 6306801768740
Status : Answered
Chosen Option : 1
Q.3 Which of the following best describes the primary goal of reinforcement in the
classroom?
Ans  «# 1. Increasing the likelihood of a behavior's recérrence.
Z5 2. Punishing incorrect answers.
#< 3. Promoting competition among students.
#< 4. Highlighting teacher's authority.
Question ID : 630680452902
Option 1 ID : 6306801768621
Option 2 ID : 6306801768620
Option 3 ID : 6306801768622
Option 4 ID : 6306801768623
Status : Answered

Chosen Option :

1




Q.4 In the context of inclusive education, why are curricular adaptations often made?

Ans  # 1. To cater to the diverse needs and abilities of students.
/5 2. To increase the complexity of subjects.
#< 3. To standardize learning for all.

#< 4. To minimize practical activities.

Question ID : 630680452884
Option 1 ID : 6306801768549
Option 2 ID : 6306801768548
Option 3 ID : 6306801768551
Option 4 ID : 6306801768550
Status : Answered
Chosen Option : 1
Q.5 Which of the following best defines the concept of learning?
Ans X 1. Memorizing information for tests and examinations.
& 2. Acquiring new or modifying existing knowledge, behaviors, skills, or preferences.
#X 3. Exclusively academic advancements in school.
X 4. Replicating behaviors after a single exposure.
Question ID : 630680452926
Option 1 ID : 6306801768717
Option 2 ID : 6306801768716
Option 3 ID : 6306801768719
Option 4 ID : 6306801768718
Status : Answered
Chosen Option : 2
Q.6 In the activity-based approach, which element is crucial for ensuring meaningful
learning?
Ans  «# 1. Engaging learners in real-world tasks
/< 2. Delivering long lectures
/< 3. Emphasizing theoretical knowledge
/5 4. Using standardized tests
Question ID : 630680452854
Option 1 ID : 6306801768430
Option 2 ID : 6306801768429
Option 3 ID : 6306801768431
Option 4 ID : 6306801768428
Status : Answered
Chosen Option : 1
Q.7 9% N6 YT QRS 9 SUSLIR 2ASIQ dlAde 9]l &°6?
Ans o 1.6996 UL JQIQ AGANNG aiR A IQIe K98 |
X 2.649E9 08 Q161 £162daInRl F761g A8l 698 |
X 3.699E9 69% 9591 48R |
X 4.6996% 64I¥ J¢Iq Q2186 998 |
Question ID : 630680452890
Option 1 ID : 6306801768574
Option 2 ID : 6306801768573
Option 3 ID : 6306801768572
Option 4 ID : 6306801768575
Status : Answered
Chosen Option : 3




Q.8 Under RTE, schools must reserve a percentage of their seats for children from
disadvantaged groups. What is this percentage?

Ans  # 1.0.25
K205
£ 3.0.1
X 4.0.75
Question ID : 630680452860
Option 1 ID : 6306801768453
Option 2 ID : 6306801768454
Option 3 ID : 6306801768452
Option 4 ID : 6306801768455
Status : Answered
Chosen Option : 1
Q.9 How can sharing assessment feedback with students benefit their learning process?
Ans X 1. It discourages students from attempting further.
#< 2. It ensures students focus only on grades.
«” 3. It helps students identify their mistakes and areas for enhancement.
< 4.1t helps in comparison
Question ID : 630680452896
Option 1 ID : 6306801768597
Option 2 ID : 6306801768599
Option 3 ID : 6306801768598
Option 4 ID : 6306801768596
Status : Answered
Chosen Option : 3
Q.10 Gﬁllﬂlﬁ‘ﬁ? oleq GREe ‘-'.T‘G.‘Iﬁlﬁl RNE 696lR2S] 267 699Igg dL6dldl KASI ae diaes
69 a8l A198IRS! IR aquesl S2arg?
Ans X' 1. Q6019 ¢sPRISIC 996]d |
X 2.2lg 92l6R d9Sl ag 6gcligg dinigam Ol anal K9S |
o 3. dIoda 29684 699 |
X 4. 998 FQUIRAES QIAI6MRSII |
Question ID : 630680452920
Option 1 ID : 6306801768693
Option 2 ID : 6306801768695
Option 3 ID : 6306801768694
Option 4 ID : 6306801768692
Status : Answered
Chosen Option : 3
Q11§91 69869 AIFAIFR-A°YER g RIS FRAFIET6R 6806 IS FF ANY 26T'?
Ans X' 1. dIAg% dIOYRFR FELal 29 ARl R |
X 2. 4,96 998 QU6 2RI 8 92K 999l |
X 3. AARI-A° LR ‘al@]&‘l{ﬁi e 699l |
o 4. 9919 UCRILICIe R qélfe sl a[~g=lall el g6Llslg 98e @9l |
Question ID : 630680452878
Option 1 ID : 6306801768527
Option 2 ID : 6306801768524
Option 3 ID : 6306801768526
Option 4 ID : 6306801768525
Status : Answered
Chosen Option : 4




Q.12 gIoYGAR AEREU6Q RISRISIFIS T 199-5¢ gk ATE QAAIQ 626M gIAes Ay
aR6liel 961 68972

Ans X' 1. 994 @Q<I 6ql6R 9F |
X 2. 0R0I0 HIe 9% 2R 2AIGe |
X 3. 99169 9291 IRl A9 6914R 998 aE! |

o 4. Q90 AAUCRISRI TR G g6 |

Question ID : 630680452908
Option 1 ID : 6306801768644
Option 2 ID : 6306801768647
Option 3 ID : 6306801768645
Option 4 ID : 6306801768646
Status : Answered
Chosen Option : 4
Q.13 Which type of activity aligns directly with the formal curriculum?
Ans X 1. Co-curricular
#< 2. Extracurricular
«” 3. Curricular
X 4. Other-curricular
Question ID : 630680452848
Option 1 ID : 6306801768405
Option 2 ID : 6306801768404
Option 3 ID : 6306801768406
Option 4 ID : 6306801768407
Status : Answered
Chosen Option : 1
Q.14 GIREe aAUQ 6996 YIMA-FEL AI0YSE (local-specific curriculum) 98 gel8l dI|lg
698?
Ans 1. I910 QITRIC, 99¢Al G RELIY |
X 2. 659 650G @159Ge |
X 3.5¢ Joade qaq 29l f9ages |
X 4. ARIKE FI8Q AIRGIYER |
Question ID : 630680452872
Option 1 ID : 6306801768502
Option 2 ID : 6306801768500
Option 3 ID : 6306801768501
Option 4 ID : 6306801768503
Status : Answered

Chosen Option :

1




Q.15 9 GU9-625a AI0OUGE (subject-centered curriculum) gI2Fie QUES FIL QAUER IS

Ans

6991g 998 69R2I?
X 1.96 d¢ga Q98 I8 agea |

X 2. 99 4R IS AGRT A6 |

o 3. GG GIg QI F9L AT6R |

X 4. 91919 2AQI9Q ARG QU6 |

Question ID : 630680452866
Option 1 ID : 6306801768476
Option 2 ID : 6306801768478
Option 3 ID : 6306801768477
Option 4 ID : 6306801768479
Status : Answered
Chosen Option : 2
Section : Part Il Subject Contents
Q.1 3 1 .
32+16+12x2-Z+ (1 - 02)} QR4 FRAE QR |
Ans 19
K1
16
K2 —
13
X3 —
b
14
o 4 —
Question ID : 630680453583
Option 1 ID : 6306801771341
Option 2 ID : 6306801771343
Option 3 ID : 6306801771340
Option 4 ID : 6306801771342
Status : Not Answered
Chosen Option : --
Q.2 =
25.50f 0.2 + 65.45 - 85.6 + 47.55 Q ¢jmY 2'Q1dE] @0l |
Ans X 1. 38
X270
X3 705
v4 325
Question ID : 630680453595
Option 1 ID : 6306801771389
Option 2 ID : 6306801771388
Option 3 ID : 6306801771391
Option 4 ID : 6306801771390
Status : Not Answered

Chosen Option :




Q.3

Ans

6861 99 6218l Jema 8991 din 2 m 14 cm RIR K9E1, 2 m 44 cm dRI KUL199° 3 m 28 cm Rl AUEl QYSLID aTem |

64 De)Q1E 6966 KUYl QISUIR @Em?

X 1. 6m86 cm
X2 7Tm80cm
X3 Bm8bcm
« 4 7 m86 cm

Question ID : 630680453564
Option 1 ID : 6306801771265
Option 2 ID : 6306801771266
Option 3 ID : 6306801771267
Option 4 ID : 6306801771264
Status : Answered
Chosen Option : 4
Q4 Z5f{ GeIGI6R 60 R 33 FIF SE6R 99° SEG6R 90 §145 Fid GY6R | ST 9gala i IeasIE0 Fda ast |
Ans 1. 52%
X 2. 66%
X3 40%
X 4 45%
Question ID : 630680453589
Option 1 ID : 6306801771365
Option 2 ID : 6306801771366
Option 3 ID : 6306801771367
Option 4 ID : 6306801771364
Status : Answered
Chosen Option : 1
Q.5 Q66 6995 CIBER, 4 kg 500 g FIRGI AR | 95 65 97 699 697 G261 €IF 250 g QYREIR 993, 6569 64 TR KRGS
6@ goaM Gedo an |
Ans % 17
2 18
X3 1
< 4. 20
Question ID : 630680453571
Option 1 ID : 6306801771293
Option 2 ID : 6306801771294
Option 3 ID : 6306801771292
Option 4 ID : 6306801771295
Status : Answered
Chosen Option : 2




Q.6 geaqiq AT A4 od Au6R 49 694 FIGI AYIRE FIIR ARFIE (FRIER) SE | 2020, 2021 €S° 2022 69 AQIRE

999 YIULIR ARLIE 68667
300 Sho
% 2500 20
& e
= 1700
g 1500 1400 —
%ﬂ 1000
& 500
ol
= o
2019 2020 2021 2022 2023
o

Ans 1. 20,00,000

X 2.15,00,000
X 3. 21,00,000
X 4.14,00,000
Question ID : 630680453553
Option 1 ID : 6306801771223
Option 2 ID : 6306801771220
Option 3 ID : 6306801771222
Option 4 ID : 6306801771221
Status : Not Answered
Chosen Option : --
Q.7 = = ~
d96l 68lM1 Yd6R Mg 99 F65w 2°oMlg 0¢% At |
1 4 3 6 2 8
10 60 2
6 14 2
Ans ¢ . 14
<2 18
3 20
X 4. 24
Question ID : 630680453559
Option 1 ID : 6306801771244
Option 2 ID : 6306801771245
Option 3 ID : 6306801771246
Option 4 ID : 6306801771247
Status : Not Answered
Chosen Option : ==




Q8 3 4q 9a6RIEN BHA6R, GF 4.8 cm 99° @4} 5 cm 26F, 666Q GHAN 6HLPR P4 Al |

Ans X' 1. 313 cm?

X 2.1.16 cm?
X 3 3.3 cm?
¢4 3.36 cm?
Question ID : 630680453607
Option 1 ID : 6306801771436
Option 2 ID : 6306801771437
Option 3 ID : 6306801771438
Option 4 ID : 6306801771439
Status : Not Answered
Chosen Option : --
Q.9 1 3 3 o
2+ 32) of = Qe G899 |
6 6 10
Ans 1
o1 =
5
1
K2 —
4
4
2 3. .—
5
3
X4 —
4
Question ID : 630680453577
Option 1 ID : 6306801771319
Option 2 ID : 6306801771316
Option 3 ID : 6306801771318
Option 4 ID : 6306801771317
Status : Answered
Chosen Option : 1
Q.10 == = e =
Yo% dY9'6l 9 £18 690 690%1% 696l 2arl dindits 7
Ans xX13
X2 2
3 1
X 4 2l
Question ID : 630680453601
Option 1 ID : 6306801771415
Option 2 ID : 6306801771412
Option 3 ID : 6306801771413
Option 4 ID : 6306801771414
Status : Answered
Chosen Option : 3




Q11 ga1e A8 Q q 618 @2 |
Ans X' 1. QR4 66Q, Q@9 6619

o 2. 909 6619, 86 6619

X 3.989, 99
X 4,94, 984
Question ID : 630680453243
Option 1 ID : 6306801769982
Option 2 ID : 6306801769983
Option 3 ID : 6306801769981
Option 4 ID : 6306801769980
Status : Answered
Chosen Option : 3
Q.12 g¢ @66 94 <l \‘@ﬁ‘ 695 J9U6l K69, 6669 4986l 98° 9elg dsiq eQQl gase
§I6 92 QA9 IR 69 QA1 ASE — F6YID AR 60QG I€ IR FEQ?
Ans X' 1.QUIdR @18 (Inclusive Principle)
X 2. 956SIa @18 (Preventive Principle)
" 3. 9997 §l5 928 2991 @16 (Polluters pay Principle)
X 4. q@l@&llﬁ‘ @16 (Precautionary Principles)
Question ID : 630680453213
Option 1 ID : 6306801769862
Option 2 ID : 6306801769861
Option 3 ID : 6306801769863
Option 4 ID : 6306801769860
Status : Not Answered
Chosen Option : --
Q.13 QUIRdLA ALY 96 6TINAIER?
Ans X' 1. Q22106
o 2. 2866al6UTY
X 3. 291994
X 4. A19611AR5]
Question ID : 630680453225
Option 1 ID : 6306801769911
Option 2 ID : 6306801769908
Option 3 ID : 6306801769909
Option 4 ID : 6306801769910
Status : Answered
Chosen Option : 1
Q.14 QF odm 16 AgeR Q A6 Q6L |
Ans X' 1. 99AQ gQ
K 2. 999 gRIR
o 3. U6]IS0Q G6ada
&K 4. 6469699 RSN
Question ID : 630680453267
Option 1 ID : 6306801770077
Option 2 ID : 6306801770079
Option 3 ID : 6306801770076
Option 4 ID : 6306801770078
Status : Answered
Chosen Option : 3




Q.15 696 @8 O 916N OF B UTR 2ASY AR £, SRl geland |
Ans X' 1. QJ4 ULKIS (Winter Solstice)

X 2. QN8R (Stellar)
X 3. QR LRI (Summer Solstice)
o 4. 818418 (Equinox)

Question ID : 630680453249
Option 1 ID : 6306801770005
Option 2 ID : 6306801770007
Option 3 ID : 6306801770006
Option 4 ID : 6306801770004
Status : Answered
Chosen Option : 4
Q.16 RDAs stands for:
Ans X 1.Repeat Dietary Allowances
75 2. Referred Dietary Allowances
«” 3. Recommended Dietary Allowances
/X 4. Reversal Dietary Allowances
Question ID : 630680453219
Option 1 ID : 6306801769886
Option 2 ID : 6306801769884
Option 3 ID : 6306801769887
Option 4 ID : 6306801769885
Status : Answered
Chosen Option : 3
Q.17 NDREF stands for:
Ans X 1. National Disaster Relief Force
/< 2. National Disaster Retired Force
#< 3. National Deputy Rest Force
& 4. National Disaster Response Force
Question ID : 630680453255
Option 1 ID : 6306801770029
Option 2 ID : 6306801770031
Option 3 ID : 6306801770030
Option 4 ID : 6306801770028
Status : Answered
Chosen Option : 1
Q.18 QF K6Ieq 24 KIg2A1 1829 6Q 0l6Q 6519 G919 GUIgl fQ2J6m |
Ans 7 1.G9%
X 2.9:4ga
X 3.9
X 4. 2199
Question ID : 630680453231
Option 1 ID : 6306801769932
Option 2 ID : 6306801769934
Option 3 ID : 6306801769933
Option 4 ID : 6306801769935
Status : Answered
Chosen Option : 4




Q.19 F6gID FRIQ 68QF FINS SINNER 62R2SI A0S AISS TN 2692
Ans £ 1. 9IGY 926 = Fgé 6 IReRE = gIS = AIER = AG6HITE = 6099

X 2.469Y ged = 9I9 = {gé 8 900K = dIFG = 2L6HINE = 6958
X 3.46l9Y ged = 9I9 = dIog = A6SIVE = 6999 = Fgé 6 daeRe
X 4.6lQY ged = fgd 6 AR = dIf = 6998 = dIeq = ALEHINE

Question ID : 630680453237
Option 1 ID : 6306801769957
Option 2 ID : 6306801769959
Option 3 ID : 6306801769956
Option 4 ID : 6306801769958
Status : Not Answered
Chosen Option : --
Q.20 QUAGIA L6 F6SID RIQ 699% 2999 62l 6611981 QIYR 99 6859 ‘:16‘5?
Ans X 1,92l Q189 A9gI69 99 Agd ARRES 2l6d
o 2. 9% 9g EIQ(IMﬁ? 98dIe QEA-AEE AAGER g9 |
X 3.9% agQ QG{IEAQ q984aIe @aa-qé QACER 99 |
X 4,926 2g 6 S 9A1R 2 |
Question ID : 630680453261
Option 1 ID : 6306801770052
Option 2 ID : 6306801770054
Option 3 ID : 6306801770055
Option 4 ID : 6306801770053
Status : Not Answered
Chosen Option : ==
Q.21 Complete the sentence with the appropriate article to make it grammatically correct.
Please hand me __ book on the top shelf.
Ans  # 1.the
X 2.some
X 3.an
X 4.a
Question ID : 630680453733
Option 1 ID : 6306801771886
Option 2 ID : 6306801771887
Option 3 ID : 6306801771884
Option 4 ID : 6306801771885
Status : Answered
Chosen Option : 1
Q.22 Choose the correct punctuation from the given options:
Did you complete the assignment and submit it
Ans X 1.apostrophe
#< 2. parentheses
o 3. question mark
< 4. comma
Question ID : 630680453769
Option 1 ID : 6306801772031
Option 2 ID : 6306801772029
Option 3 ID : 6306801772030
Option 4 ID : 6306801772028
Status : Answered
Chosen Option : 3




Q.23 Fill in the blank with the correct common noun.
The of the ancient civilization left behind a wealth of knowledge for historians to
study.

Ans  # 1. scriptures
75 2. prescriptions
X 3. treasures

X 4. professors

Question ID : 630680453751
Option 1 ID : 6306801771956
Option 2 ID : 6306801771957
Option 3 ID : 6306801771958
Option 4 ID : 6306801771959
Status : Answered
Chosen Option : 4
Q.24 The word given in the brackets defines the modification of the noun. Based on this
understanding fill in the blank with the correct adjective from the given options.
The (turbulent) waves crashed against the jagged rocks, creating a dramatic
and powerful scene.
Ans " 1. tumultuous
75 2. dazzling
/< 3. exclusive
< 4. gentle
Question ID : 630680453739
Option 1 ID : 6306801771908
Option 2 ID : 6306801771910
Option 3 ID : 6306801771911
Option 4 ID : 6306801771909
Status : Not Answered
Chosen Option : ==
Q.25 Fill in the blank with the correct verb.
The magician the seemingly impossible trick, leaving the audience in awe.
Ans  # 1. performed
< 2. succumbed
#< 3. wondered
X 4. alluded
Question ID : 630680453763
Option 1 ID : 6306801772004
Option 2 ID : 6306801772007
Option 3 ID : 6306801772005
Option 4 ID : 6306801772006
Status : Answered
Chosen Option : 1




Q.26 Complete the sentence with the correct form of the tense:

| that book before, but I'm reading it again now.
Ans X 1.read

< 2. was reading
#< 3. am reading
«” 4. have read

Question ID : 630680453787
Option 1 ID : 6306801772102
Option 2 ID : 6306801772101
Option 3 ID : 6306801772100
Option 4 ID : 6306801772103
Status : Answered
Chosen Option : 4
Q.27 Complete the sentence with the correct form of the tense:
At this time tomorrow, we on the beach.
Ans 1. will be swimming
& 2. will swim
< 3. will have swum
X 4. have swum
Question ID : 630680453781
Option 1 ID : 6306801772079
Option 2 ID : 6306801772076
Option 3 ID : 6306801772078
Option 4 ID : 6306801772077
Status : Answered
Chosen Option : 2
Q.28 Fillin the blank with the correct adverb.
The detective examined the evidence to solve the complex case.
Ans X 1.sloppily
< 2. noisily
¥ 3. carefully
X 4. sadly
Question ID : 630680453745
Option 1 ID : 6306801771932
Option 2 ID : 6306801771935
Option 3 ID : 6306801771933
Option 4 ID : 6306801771934
Status : Answered
Chosen Option : 3




Q.29 Fill in the blank with the correct preposition.
The park is located the tall skyscraper and the busy street.

Ans X 1. before

#< 2. along with
¥ 3. between
/< 4. against
Question ID : 630680453757
Option 1 ID : 6306801771982
Option 2 ID : 6306801771980
Option 3 ID : 6306801771981
Option 4 ID : 6306801771983
Status : Answered
Chosen Option : 3
Q.30 Based on the sentence given below answer the question:
After a long day at work, Sarah returned home, put on her favourite music, and started
preparing a delicious dinner.
The commas in this sentence are used to
Ans 1. separate items in a list
/< 2. indicate omitted words
/< 3. join two independent clauses
/< 4. create a comma splice
Question ID : 630680453775
Option 1 ID : 6306801772052
Option 2 ID : 6306801772054
Option 3 ID : 6306801772053
Option 4 ID : 6306801772055
Status : Answered
Chosen Option : 1
Q.31 ‘Gér 6195 689 9RIaa F6619Y ggc aa ?
Ans X' 1.9¢Qlo@
X 2.94@QIeR
o 3. GIGqleR
X 4.969199
Question ID : 630680453850
Option 1 ID : 6306801772353
Option 2 ID : 6306801772354
Option 3 ID : 6306801772352
Option 4 ID : 6306801772355
Status : Answered
Chosen Option : 2




Q.32 99 AT - 69¢IFE 997 620NN ASRIA ?
Ans £ 1. G6adIge ASRIE

X 2. 999166 QqIel

X 3. 9489159 ASRI¢

X 4. 9999197 ALQIE

Question ID : 630680453842
Option 1 ID : 6306801772321
Option 2 ID : 6306801772322
Option 3 ID : 6306801772320
Option 4 ID : 6306801772323
Status : Answered
Chosen Option : 1
Q.33 2)IQ 689 6516NQ AU ?
Ans X 1302999
X 2.62gQloq
X 3. 56dIae
o 4. A°6AIGR
Question ID : 630680455420
Option 1 ID : 6306801778596
Option 2 ID : 6306801778595
Option 3 ID : 6306801778594
Option 4 ID : 6306801778597
Status : Answered
Chosen Option : 2
Q.34 ‘qqI6q €18 QURPSr - gasrea 212f ogla ?
Ans X' 1. dQIgR6R 218 QUGS
X 2. 9@l 91369 faa AIRQIAE 6QHIRS!
o 3. 992l gas 994l
X 4. 961 CI6R §Y BRI
Question ID : 630680453882
Option 1 ID : 6306801772480
Option 2 ID : 6306801772483
Option 3 ID : 6306801772482
Option 4 ID : 6306801772481
Status : Answered
Chosen Option : 3
Q.35 ‘adyir S9T6Q SY9ES QUAHT Tl |
Ans X 149l
o 2. 90
X 3.9¢
X 4.99
Question ID : 630680453855
Option 1 ID : 6306801772373
Option 2 ID : 6306801772375
Option 3 ID : 6306801772372
Option 4 ID : 6306801772374
Status : Answered
Chosen Option : 2




Q.36 ‘Qa§’ fIaq fAE S18Tg T8 a9 |
Ans X' 1 644l

&K 2. 9649l
X 3. 996419
o 4. QU8
Question ID : 630680453871
Option 1 ID : 6306801772439
Option 2 ID : 6306801772436
Option 3 ID : 6306801772437
Option 4 ID : 6306801772438
Status : Answered
Chosen Option : 4
Q.37 QIR SI9TQ 996 9ol fda ea |
Ans 1 Qid+ag
X 2. q1dd+adl
2 3. Qe+
X 4. 1@+ql
Question ID : 630680453860
Option 1 ID : 6306801772394
Option 2 ID : 6306801772393
Option 3 ID : 6306801772392
Option 4 ID : 6306801772395
Status : Answered
Chosen Option : 2
Q.38 QeI FRIQ UG’ FIRTR QeRiesING 618 68918 ?
Ans X' 1. d@R
X 2. 909
X 3.99%
o 4. 9619
Question ID : 630680453864
Option 1 ID : 6306801772411
Option 2 ID : 6306801772410
Option 3 ID : 6306801772409
Option 4 ID : 6306801772408
Status : Answered
Chosen Option : 4
Q.39 gaigall agdsl - QEa 22 gge e |
Ans X' 1.60% Q9Q%l
X 2. 3909 621!
X 3. 4999 QIggal
o 4. 860 qIg 629l
Question ID : 630680453886
Option 1 ID : 6306801772498
Option 2 ID : 6306801772497
Option 3 ID : 6306801772499
Option 4 ID : 6306801772496
Status : Answered
Chosen Option : 2




Q.40 ‘@@’ §IN69 2 96U 6RAISIELER 69 IR §9 2

Ans X 1. qQl@
X 2.9@
o 3. @9l
X 4. 069
Question ID : 630680455422
Option 1 ID : 6306801778604
Option 2 ID : 6306801778602
Option 3 ID : 6306801778605
Option 4 ID : 6306801778603
Status : Answered
Chosen Option : 3
Section : Part Il Pedagogy
Q1 - o 25 v 5
CUHER 9 9uiF' RIF J99R 9FIe £, 6069 PR QIEgEat @Y1 6Rl8gYan
FID ¢11) AAIS 629 | 99IQ FURIS 2eeiia @1aY (contrapositive)q S4e @Qg |
Ans X 1.
SRR69, 48 691615 SaE QIR AFIF FIE 2N, 6669 §R QI DaIe 681Kl |
X 2.
LEREY, I8 9RG 618 LIS @9, 6869 edeqled 9RE QIEg F1X LA 6RIR2IN |
~< 3
@@QGS\, (3[R 9@ Qg Lelle & 2N, 6969 g 9@ Slgo FANE 6RIGR FI AENG FoINg |
v
GRE6S, 14 9@ Qg0 SUNE 69160 (D DAIe G2, 6969 AgQd Yol Qg Qe @2 |
Question ID : 630680453516
Option 1 ID : 6306801771074
Option 2 ID : 6306801771075
Option 3 ID : 6306801771072
Option 4 ID : 6306801771073
Status : Answered
Chosen Option : 1
2 —_ _ e —_ —_ < —_——
92 QORYS FRIQ 699 U8T6R RISKISIR AT 2°99e4d 2SS RS ?
Ans 1. 2lI6QULT (Inductive)
X 2. S°6GNE| (Synthetic)
x 3. 2elld@l (Lecture)
X 4 3@ €16 99969 ALEND1e 985919 (Dogmatic)
Question ID : 630680453540
Option 1 ID : 6306801771170
Option 2 ID : 6306801771169
Option 3 ID : 6306801771168
Option 4 ID : 6306801771171
Status : Answered
Chosen Option : 4




Q.3  Ateacher asked the students to find the sum of the angles of a quadrilateral, pentagon and hexagon by dividing them into triangles by

drawing diagonals. If the students apply the same logic, how much will they get as angle sum for a decagon?

Ans X' 1 o00e
o 2. 1440°
X 3. 288(°
X 4. 1800°
Question ID : 630680453534
Option 1 ID : 6306801771147
Option 2 ID : 6306801771145
Option 3 ID : 6306801771146
Option 4 ID : 6306801771144
Status : Not Answered
Chosen Option : ==
4 Q8ie AVNIE 6R6CEI6R PR 6997
Ans X 1.
€9 QIOYYLRER! 291 €FIY LFIENIR QB85 SR12h 6969 AIRES QIE
X 2. g8 d812h 989 €168 ag AIR6S QIE
v o (9 dgieh 6969 § 986 2INEg Agee a06S 918
X4 QR daeh aagyl aarie @RaIfee fIE
Question ID : 630680453528
Option 1 ID : 6306801771123
Option 2 ID : 6306801771121
Option 3 ID : 6306801771122
Option 4 ID : 6306801771120
Status : Answered
Chosen Option : 3
Q.5 "GRG FEg L3I 61115 B PER, 6QFIRE [alafale NaR el [Alakaialig[N ) SIoIQ 96 25T |
QdeaIe 998 6¢lge ad Qe8¢ Qa8e AT |
Ars s p+t=t+p9epxt=txp,pteR
X2p+t=t+p¥N9°pxt=txp.p,teN
XKap+t=t+p9e”pxt=txp
Xep+t=t+pQel pxt=txp, pter
Question ID : 630680453522
Option 1 ID : 6306801771096
Option 2 ID : 6306801771098
Option 3 ID : 6306801771099
Option 4 ID : 6306801771097
Status : Not Answered

Chosen Option :




Q.6 In an EVS classroom, how can a survey method be best utilized?

Ans X 1.To assess students' prior knowledge on a topic.

/< 2. To engage students in lab experiments.

o 3. To collect specific information about local environmental concerns directly from the
community.

/5 4. To provide theoretical knowledge about ecosystems.

Question ID : 630680453207
Option 1 ID : 6306801769839
Option 2 ID : 6306801769838
Option 3 ID : 6306801769837
Option 4 ID : 6306801769836
Status : Answered
Chosen Option : 3
Q7 QISRIBIFIET AN AR6S6 AFN1H AV 6TRITS G AIFFS Tl figiel G.‘I'i"ﬁ' ngqai?
Ans X' 1. 6gd192 2T 98 aQS!
X 2. Y@ 9911 162l AR
o 3. OQUIPERR KTRCI 9S° J9YR ITC KLE 2l daAg 98al
X 4. 3818 90Q IR 996 629!
Question ID : 630680453189
Option 1 ID : 6306801769765
Option 2 ID : 6306801769767
Option 3 ID : 6306801769766
Option 4 ID : 6306801769764
Status : Answered
Chosen Option : 3
Q.8 EVS 69 SRIq 99° AIFIRG SRIFA 99196l 629 Qlé‘ﬁ SJQQQ@ 269 ?
Ans X' 1,991 6997 QIFING 2UAG QD69 Y& 69R2IN |
X 2. 921 T09q 2Ye K5 98° A}eq a2l |
o 3. 658IGS c2ug QIFING el 986 Fg4d.a0\el at6ed 991 9 difge QB6aIE
g9l @69 |
X 4,981 QRS A6V 65RGR 2166 QIR e Nell [l |
Question ID : 630680453183
Option 1 ID : 6306801769743
Option 2 ID : 6306801769740
Option 3 ID : 6306801769742
Option 4 ID : 6306801769741
Status : Answered
Chosen Option : 3
Q.9 gaees AGIFE A°AVEIR TVLYED, 699 98 flee fldueria gial deug 99° 96l
QULER QITE 1] L1ag F1YIdQ gL aRNEG ITE [6Q?
Ans X' 1.4QY QIRe
X 2. 682 a9l agl 624
X 3. 99694 Q41 AQRE
o 4. Q1999 o0
Question ID : 630680453195
Option 1 ID : 6306801769791
Option 2 ID : 6306801769790
Option 3 ID : 6306801769788
Option 4 ID : 6306801769789
Status : Not Answered
Chosen Option : ==




Q10 699 ART6R ARIINEES TSNS 651611 AFAN AYKI°F D1 SIGIRIG FAIIACR RISAINTG,
geql gele aqIg?

Ans 1 2RIOGI 98T

X 2.690m 69,

X 3. LS eI

X 4. 69168 2GS F86

Question ID : 630680453201
Option 1 ID : 6306801769814
Option 2 ID : 6306801769812
Option 3 ID : 6306801769813
Option 4 ID : 6306801769815
Status : Answered
Chosen Option : 3
Q.11 Choose the incorrect option.
Ans X 1.Non-native speakers should be taught the correct e-mail etiquettes.
#< 2. Non-native speakers may not be well-versed with the culture of the host country.
«” 3. Non-native speakers may be allowed to be extremely informal in all their
communication.
Z5 4. Non-native speakers may not know the correct form of addressing.
Question ID : 630680453635
Option 1 ID : 6306801771544
Option 2 ID : 6306801771545
Option 3 ID : 6306801771547
Option 4 ID : 6306801771546
Status : Not Answered
Chosen Option : ==
Q.12 Fill in the blank:
Public appreciation from the teacher to a student is an example of reward.
Ans X 1.wellness
#< 2. financial
o 3. intangible
X 4. tangible
Question ID : 630680453641
Option 1 ID : 6306801771571
Option 2 ID : 6306801771570
Option 3 ID : 6306801771569
Option 4 ID : 6306801771568
Status : Not Answered
Chosen Option : ==




Q.13 Which of the following is not a requirement of public speaking?
Ans X 1. Presentation style

#5 2. Focus on body language
o 3. Taking notes

#< 4. Clear articulation

Question ID : 630680453623
Option 1 ID : 6306801771497
Option 2 ID : 6306801771496
Option 3 ID : 6306801771498
Option 4 ID : 6306801771499
Status : Answered
Chosen Option : 3
Q.14 ldentify the option which includes the basic elements of poetry.
Ans X 1. Monologue, dialogue, catharsis, chorus, diction
/X 2. Character, setting, plot, point of view, mood
/< 3. Message, medium, audience, budget, branding
«” 4. Meter, rhyme, scheme, verse, stanza
Question ID : 630680453647
Option 1 ID : 6306801771593
Option 2 ID : 6306801771592
Option 3 ID : 6306801771595
Option 4 ID : 6306801771594
Status : Answered
Chosen Option : 2
Q.15 Which of the following are associated with reading skills?
Ans X 1. Creativity, spellings, research
«” 2. Fluency, pronunciation, comprehension
#< 3. Editing, outlining, scanning
#X 4. Word usage, skimming, proofing
Question ID : 630680453629
Option 1 ID : 6306801771520
Option 2 ID : 6306801771523
Option 3 ID : 6306801771522
Option 4 ID : 6306801771521
Status : Answered
Chosen Option : 2
Q.16 QINFRS FNICIE ARE6R 684 FINET 69188T AR IR ?
Ans X' 1. QECIRITQ AR
X 2. dreGe gdia
X 3. dIEcYq gaI
o 4. G815 gaIQ
Question ID : 630680453810
Option 1 ID : 6306801772194
Option 2 ID : 6306801772195
Option 3 ID : 6306801772193
Option 4 ID : 6306801772192
Status : Not Answered

Chosen Option :




Q.17 TRl 61N 694 UNIQ 2GS ?
Ans  .# 1. QI5Q

X 2.2y
X 3.298e
X 4.94l
Question ID : 630680453824
Option 1 ID : 6306801772249
Option 2 ID : 6306801772250
Option 3 ID : 6306801772251
Option 4 ID : 6306801772248
Status : Not Answered
Chosen Option : --
Q.18 69&5’?@]@69 flIge g1 262s AlgRUNIG el QlEl @l6S FUIRAQ AIoYFF6R TS
LAl dIR A aQAeq ?
Ans X' 1 ecsy
K 2.e088
X 3.e089
o 4. 086N
Question ID : 630680453800
Option 1 ID : 6306801772153
Option 2 ID : 6306801772154
Option 3 ID : 6306801772155
Option 4 ID : 6306801772152
Status : Not Answered
Chosen Option : ==
Q.19 606 AIGRINI SN RYESI ATHS 2
Ans X' 1.QYRGC AmIeaN
o 2. 8102 muesi
2 3. A°PG089 FmUeaI
X 4. AEGYR IRYEINRI
Question ID : 630680453807
Option 1 ID : 6306801772181
Option 2 ID : 6306801772182
Option 3 ID : 6306801772183
Option 4 ID : 6306801772180
Status : Not Answered
Chosen Option : --
Q.20 2qY QIR gL se@"g@a @6l ?
Ans X' 1.6mgSl
X 2.989l
X 3. gdel
o 4. QRIQ8 9%l
Question ID : 630680453817
Option 1 ID : 6306801772223
Option 2 ID : 6306801772221
Option 3 ID : 6306801772220
Option 4 ID : 6306801772222
Status : Answered
Chosen Option : 3




